Wie lautet die fehlende Zahl (bis 100 000)?

Subtrahieren

Aufgabe 1

1. 85 419 -
2. 68 582 -
3 68 071 -
4 93 306 -
5 61340 -
6 58 547 -
7 49 951 -
8 59 307 -
9 75115 -

10. 90 509 -

Aufgabe 3
1. 38 789 -
2. 92 479 -
3 55 767 -
4 40191 -
5 75 679 -
6 93 990 -
7 63 617 -
8 53 696 -
9 47 252 -

10. 87 630 -
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72 400

7 935

52 951

61 142

22 908

14 153

35190

25 694

63 899

53 591

5 875

4 505

23 585

7 086

15 513

33 059

53 430

30 101

3 532

52 068

Aufgabe 2
1. 93 595 -
2. 75 865 -
3. 91112 -
4. 36 000 -
5. 98 232 -
6. 91 079 -
7. 71273 -
8. 93 430 -
9. 24 472 -
10. 53 039 -
Aufgabe 4
1. 78 164 -
2. 56 038 -
3. 42 248 -
4. 89 690 -
5. 72 202 -
6. 75 973 -
7. 71 694 -
8. 86 121 -
9. 93 787 -
10. 45 616 -

_ 8 558
...................................... I
...................................... ) 15 875
...................................... ) 2 535
...................................... _ 94914
...................................... i 2 089
...................................... i 1984
...................................... _ 54184
______________________________________ _ 8 480
______________________________________ _ 27 253

_ 1313
...................................... _ 37798
...................................... ) 8 482
...................................... ) 1979
...................................... 46432
...................................... _ 40834
...................................... _ 54948
...................................... _ 40415
______________________________________ _ 50 487
______________________________________ - 21885
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Wie lautet die fehlende Zahl (bis 100 000)? | ANTWORTEN

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 85419 - 13019 = 72 400 1. 93 595 - 85037 8 558
2. 68 582 - 60647 = 7 935 2. 75 865 - 29110 = 46 755
3. 68 071 - 15120 = 52 951 3. 921112 - 75237 = 15 875
4. 93 306 - 32164 = 61142 4. 36 000 - 33465 = 2 535
5. 61340 - 38432 = 22 908 5. 98 232 - 24018 = 74 214
6. 58 547 - 44394 = 14 153 6. 91 079 - 88990 = 2 089
7. 49 951 - 14761 = 35190 7. 71273 - 69289 = 1984
8. 59 307 - 33613 = 25 694 8. 93 430 - 37246 . 56 184
9. 75115 - 11216 = 63 899 9. 24 472 - 15992 = 8 480

10. 90 509 - 36918 = 53 591 10. 53 039 - 25786 = 27 253

Aufgabe 3 Aufgabe 4
1. 38789 - 32914 = 5875 1. 78 164 - 76851 = 1313
2. 92 479 - 87974 = 4 505 2. 56 038 - 18310 = 37 728
3. 55 767 - 32182 = 23 585 3. 42 248 - 33766 = 8 482
4 40 191 - 33105 = 7 086 4. 89 690 - 87711 = 1979
5. 75 679 - 60166 = 15 513 5. 72 202 - 25770 = 46432
6. 93 990 - 60931 = 33 059 6. 75973 - 33139 = 42834
7. 63 617 - 10187 = 53 430 7. 71 694 - 16746 = 54948
8. 53 696 - 23595 = 30 101 8. 86 121 - 43706 = 42415
9 47252- 43720 - 3532 9 93787- 43300 - 50487

10. 87 630 - 35562 = 52 068 10. 45 616 - 23731 = 21 885
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